normalized X?

Entries
Mean
Std Dev

[ normalized x? probability |

0.05

Mean
Std Dev

0.04]

Entries
+ [ mean
. Lstdpev

=1

I HHHHUHUHHHHHH \HHH I H ]

k) o+R ! ! :
g : g : ull HM
15"“?‘:.@ whisk il i £ W i o : ' it it
LEERRREN \UHHHsHHHU\ HHHH\sHHH\HsHHHHeH\”\IIeHW\ Ll
0.95 0.95/
0 2 4 6 8 10 12 14 16 18 20 010203040506070809 1
X Prob(x?)
mmme= DQM_mkFit_TToriginal
s DQM_mkFit_TT_pL
— DQM_MkFit_TT_pLW
5 — 5
L F g F
e} r -~
= o A
=~ -
< 2
v -
o
L L=}
\%
Re] ie]
g T 1.05
o o
0.95| - et A T
BT 1 0 1 2 3
TP n (PCA to beamline)
A A
5 k<]
{=4 c
< <
Vv \%
£ k=]
T T
14 4

T
=
o1

g

N

<dp./p_> (%)

107 1072

-1
AR(track, je:‘LtS)



	Contents
	Page 1


